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QUESTION 1

A user is decommissioning older iOS devices that where enrolled using the Apple Device Enrollment Program (DEP) in
the Workspace UEM environment.

Which tasks need to be executed?
A. Delete the device from Workspace ONE UEM and it will be automatically disassociated from DEP.
B. Perform an enterprise wipe, then Workspace ONE UEM will automatically disassociate the device from DEP.

C. Disassociate the device in the DEP and from the MDM server, then Workspace ONE UEM syncs the device state
automatically.

D. Disassociate the device in the DEP and from the MDM server, then sync iOS devices manually in Workspace ONE
UEM.

Correct Answer: C

QUESTION 2

An administrator has configured a per-app tunnel in a cascade deployment type. Between the network segments, the
administrator has implemented a load balancer that is providing SSL-offloading.

None of the per-app tunnel configured apps are able to establish a tunneled connection.

What is the problem?

A. Per-app tunnel cannot be deployed in cascade mode.

B. Per-app tunnel does not support SSL offloading.

C. The SSL offloading needs to be enabled between the two tunnel servers.

D. Per-app tunnel does not support SSL offloading between the two relay -endpoint tunnel servers.
Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-Workspace-ONE-
UEM/1907/Tunnel_Linux/GUIDCD6FEOE3-902E-4099-A0B1-DB43B1BDOF43.html

QUESTION 3

A user has connected a mobile device to a customer\\'s Wi-Fi and they experience problems with connectivity. How
should this problem be remediated?

A. Factory reset the device and re-enroll the device.
B. Switch from Wi-Fi to 3G/LTE.

C. Update the mobile OS on the device if possible.
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D. Delete the intelligent HUB app from the device.

Correct Answer: C

QUESTION 4

How is content assigned to an Active Directory user?
A. Assignment Group

B. Smart Group

C. User Group

D. Active Directory Group membership

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-Workspace-ONE-UEM/1811/WS1-UEMDirectoryServices.pdf

QUESTION 5

An administrator has enabled Kerberos Constrained Delegation (KCD) on the SEG v2. If the administrator publishes a
profile without a certificate payload and the user enters the password, everything works fine. When the user publishes
the same profile with a certificate payload, the system is unable to connect and synchronize emails.

Which two troubleshooting steps need to be taken? (Choose two.)

A. KCD is not supported on SEG v2.

B. Verify if the service account is a member of the IIS user group on each CAS Exchange server.

C. Verify that the Workspace UEM Console certificate is uploaded as a client certificate chain.

D. Verify that port 88 is not blocked between the SEG and the Active Directory domain controller(s).

E. Verify that the service account is set to the service type OWA.

Correct Answer: CD

Reference https://docs.vmware.com/en/VMware-Workspace-ONE-UEM/1907/WS1_KCD_SEGV2_Doc.pdf
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